TUTORIAL # 12
[image: image1.png]10.4 Two rigid bars AC and BC are connected by a pin at C as shown.
Knowing that the torsional spring at B is of constant K, determine the critical
load P, for the system.





[image: image2.png]Let 8 be the angle change of each bar
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[image: image3.png]10.5 The rigid rod AB is attached to a hinge at A and to two springs,
each of constant k = 30 kN/m that can act in either tension or compression.
Knowing that & = 0.6 m, determine the critical load.
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[image: image5.png]Let 8 be the small rotation angle.
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[image: image9.png]10.9 Determine the critical load of a wooden meter stick which has a
7 X 24-mm rectangular cross section. Use E = 12 GPa.
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[image: image11.png]10.10  Determine the critical load of a round wooden dowel that is 0.9 m
long and has a diameter of () 10 mm, (b) 15 mm. Use E = 12 GPa.
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